
log log plot

U = aQb typical b value 0.45, range 0.3 to 0.7

Segment Date Q = steady flow rate U = mean velocity
BDL-2 4/13/2010 5.63 0.74 BDL-2
BDL-2 2/16/2010 10.89 0.9 U=0.3976Q^0.3422
BDL-2 11/18/2009 9.61 0.83
BDL-2 6/17/2009 3.25 0.58
BDL-2 6/3/2009 4.07 0.63
BDL-2 5/28/2009 4.26 0.67
BDL-2 5/22/2009 5.77 0.61
BDL-2 5/15/2009 9.17 0.77
BDL-2 4/28/2009 5.30 0.74
BDL-2 4/21/2009 7.23 1.03
BDL-2 4/16/2009 7.19 0.76

LC-3 4/13/2010 4.04 0.44
LC-3 2/16/2010 6.73 0.43
LC-3 11/18/2009 3.98 0.56
LC-3 8/4/2009 4.83 0.58
LC-3 6/16/2009 3.97 0.85
LC-3 6/3/2009 4.11 0.42
LC-3 5/28/2009 3.68 1.11
LC 3 5/22/2009 3 41 0 51LC-3 5/22/2009 3.41 0.51
LC-3 5/15/2009 5.71 0.99
LC-3 4/28/2009 3.90 0.28
LC-3 4/21/2009 3.16 0.25
LC-3 4/16/2009 5.33 0.63

LC-4 4/13/2010 6.37 0.30 0.804003 -0.52913
LC-4 2/16/2010 6.80 0.29 0.832445 -0.54107
LC-4 11/18/2009 4.53 0.11 0.656098 -0.95503
LC-4 8/3/2009 11.13 0.96 1.046378 -0.01773
LC-4 6/17/2009 4.24 0.43 0.627468 -0.36351
LC-4 6/3/2009 ? 3.53 0.27 0.547282 -0.57487
LC-4 5/28/2009 3.02 0.13 0.479719 -0.88606
LC-4 5/22/2009 3.13 0.13 0.49596 -0.88845
LC-4 5/15/2009 4.96 0.22 0.695482 -0.64934
LC-4 4/28/2009 3.76 0.19 0.575534 -0.71427
LC-4 4/21/2009 3.98 0.19 0.599992 -0.71427
LC-4 4/16/2009 4.72 0.19 ? 0.674034 -0.71799
LC-4 4/13/2009 6.37 0.30 0.804003 -0.52913
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log log plot

H = Q typical  value 0.4, range 0.1 to 0.6

Segment Date Q = steady flow rate H = mean depth
BDL-2 4/13/2010 5.63 0.6
BDL-2 2/16/2010 10.89 0.8
BDL-2 11/18/2009 9.61 0.9
BDL-2 6/17/2009 3.25 0.57
BDL-2 6/3/2009 4.07 0.66
BDL-2 5/28/2009 4.26 0.64
BDL-2 5/22/2009 5.77 0.68
BDL-2 5/15/2009 9.17 0.91
BDL-2 4/28/2009 9.30 0.67
BDL-2 4/21/2009 7.23 0.77
BDL-2 4/16/2009 7.19 0.72

LC-3 4/13/2010 4.04 0.88
LC-3 2/16/2010 6.73 0.92
LC-3 11/18/2009 3.98 1.01
LC 3 8/4/2009 4 83 0 71LC-3 8/4/2009 4.83 0.71
LC-3 6/16/2009 3.97 0.53
LC-3 6/3/2009 4.11 0.79
LC-3 5/28/2009 3.68 0.43
LC-3 5/22/2009 3.41 0.60
LC-3 5/15/2009 5.71 0.65
LC-3 4/28/2009 3.90 0.78
LC-3 4/21/2009 3.16 0.70
LC-3 4/16/2009 5.33 0.45

LC-4 4/13/2010 6.37 1.18
LC-4 2/16/2010 6.80 1.55
LC-4 11/18/2009 4.53 1.85
LC-4 8/3/2009 11.13 0.65
LC-4 6/17/2009 4.24 0.81
LC-4 6/3/2009 ? 3.53 0.94
LC-4 5/28/2009 3.02 1.42
LC-4 5/22/2009 3.13 1.49
LC-4 5/15/2009 4.96 1.44
LC-4 4/28/2009 3.76 1.34
LC-4 4/21/2009 3.98 1.37
LC-4 4/16/2009 4.72 1.34 ?
LC-4 4/13/2009 6.37 1.18
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log log plot

B = cQf typical f value 0.15, range 0.05 to 0.25

Segment Date Q = steady B = width
BDL-2 4/13/2010 5.63 11
BDL-2 2/16/2010 10.89 13
BDL-2 11/18/2009 9.61 12
BDL-2 6/17/2009 3.25 9
BDL-2 6/3/2009 4.07 9.5
BDL-2 5/28/2009 4.26 9
BDL-2 5/22/2009 5.77 12
BDL-2 5/15/2009 9.17 12
BDL-2 4/28/2009 5.30 9.3 ?
BDL-2 4/21/2009 7.23 9
BDL-2 4/16/2009 7.19 10 ? 9.2

LC-3 4/13/2010 4.04 7 8.5
LC-3 2/16/2010 6.73 9 11.5
LC-3 11/18/2009 3.98 6
LC-3 8/4/2009 4.83 10 9
LC-3 6/16/2009 3.97 7.5 7
LC-3 6/3/2009 4.11 8.5 8
LC-3 5/28/2009 3.68 7 6
LC-3 5/22/2009 3.41 9.5 6
LC-3 5/15/2009 5.71 8
LC-3 4/28/2009 3.90 12.5 10
LC-3 4/21/2009 3.16 12.6 12
LC-3 4/16/2009 5.33 11 10

log Q log width
LC-4 4/13/2010 6.37 14 0.804003 1.146128
LC-4 2/16/2010 6.80 13 0.832445 1.113943
LC-4 11/18/2009 4.53 19.5 0.656098 1.290035
LC-4 8/3/2009 11.13 14 1.046378 1.146128
LC-4 6/17/2009 4.24 10 0.627468 1
LC-4 6/3/2009 ? 3.53 13 0.547282 1.113943
LC-4 5/28/2009 3.02 13 0.479719 1.113943
LC-4 5/22/2009 3.13 13.5 0.49596 1.130334
LC-4 5/15/2009 4.96 16 ? 0.695482 1.20412
LC-4 4/28/2009 3.76 13 0.575534 1.113943
LC-4 4/21/2009 3.98 12 13? 0.599992 1.079181
LC-4 4/16/2009 4.72 13 ? 0.674034 1.113943
LC-4 4/13/2009 6.37 14 0.804003 1.146128
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